

$$\begin{aligned} I(1) \quad \left(\frac{1}{2x+1} \right)' &= \frac{-(2x+1)'}{(2x+1)^2} \\ &= \frac{-2}{(2x+1)^2} \end{aligned}$$

$$\begin{aligned} (2) \quad \left(\frac{x}{x-1} \right)' &= \frac{(x)'(x-1) - x(x-1)'}{(x-1)^2} \\ &= \frac{(x-1) - x}{(x-1)^2} \\ &= -\frac{1}{(x-1)^2} \end{aligned}$$

$$\begin{aligned} (3) \quad & \{ (x^2+1)(x-1) \}' \\ &= (x^2+1)'(x-1) + (x^2+1)(x-1)' \\ &= 2x(x-1) + (x^2+1) \cdot 1 \\ &= 3x^2 - 2x + 1 \end{aligned}$$

$$\begin{aligned} (4) \quad \left(\frac{1}{1+x+x^2} \right)' &= \frac{-(1+x+x^2)'}{(1+x+x^2)^2} \\ &= \frac{-1-2x}{(1+x+x^2)^2} \end{aligned}$$

$$\{(2x-1)^{10}\}' = ?$$

$$\lim_{x \rightarrow a} \frac{f(x) - f(a)}{x - a} = f'(a)$$

$$x_n \rightarrow a, x_n \neq a \text{ " } \{x_n\} \in \mathbb{R}.$$

$$\frac{f(x_n) - f(a)}{x_n - a} = \frac{(2x_n - 1)^{10} - (2a - 1)^{10}}{x_n - a}$$

$$y_n = 2x_n - 1$$

$$\in \mathbb{R}$$

$$y_n \rightarrow 2a - 1$$

$$\text{"}$$

$$A \in \mathbb{R}$$

$$= \frac{y_n^{10} - A^{10}}{y_n - A} \cdot \frac{(2x_n - 1) - (2a - 1)}{x_n - a}$$

$$\downarrow$$

$$\text{"}$$

$$2$$

$$(y^{10})' \big|_{y=A}$$

$$\text{"}$$

$$10 y^9 \big|_{y=A}$$

$$\text{"}$$

$$10 A^9$$

$$\rightarrow 2 \cdot 10 A^9$$

$$= 2 \cdot 10 (2a - 1)^9$$

$$(2x-1)^{10} = \cancel{f} g(u(x))$$

$\underset{f(x)}{\quad}$

$$g(y) = y^{10}, \quad \underset{y}{u(x)} = 2x-1.$$

合成函数.

$$A = u(a)$$

$$\frac{f(x) - f(a)}{x - a} = \frac{g(u(x)) - g(u(a))}{x - a}$$

$$= \frac{g(y) - g(A)}{y - A} \cdot \frac{u(x) - u(a)}{x - a}$$

$$x \rightarrow a \text{ at } \mathbb{R}.$$

$$y = u(x) \rightarrow u(a) = 2a-1 = A$$

$$\rightarrow g'(A)$$

$$\rightarrow u'(a)$$

$$\rightarrow g'(A) \cdot u'(a)$$

链式法则: $g(u(x)) \quad \left. \begin{array}{l} z = g(y) \\ y = u(x) \end{array} \right\} \text{合成}$

$$\frac{d g(u(x))}{dx} = \frac{d g(y)}{dy} \bigg|_{y=u(x)} \cdot \frac{du(x)}{dx}.$$

$$\textcircled{1} (\sqrt{x^2+1})' = ?$$

$$f(x) = \sqrt{x^2+1} = g(u(x))$$

$$g(y) = \sqrt{y}, \quad \underset{\substack{\text{"} \\ y}}{u(x)} = x^2+1.$$

$$\begin{aligned} (\sqrt{x^2+1})' &= \frac{d\sqrt{y}}{dy} \cdot \frac{du}{dx} \\ &= \frac{1}{2} \frac{1}{\sqrt{y}} \cdot 2x = \frac{x}{\sqrt{x^2+1}}. \end{aligned}$$

$$\textcircled{2} (1+t)^n = g(u(t))$$

$$g(x) = x^n, \quad \underset{\substack{\text{"} \\ x}}{u(t)} = 1+t.$$

$$\begin{aligned} \{(1+t)^n\}' &= \frac{d(x^n)}{dx} \cdot \frac{du}{dt} \\ &= n x^{n-1} \cdot 1 \\ &= n (1+t)^{n-1}. \end{aligned}$$

$$(1+2t)^n = g(u(t))$$

$$g(x) = x^n, \quad x = u(t) = 1+2t.$$

$$\begin{aligned} \{(1+2t)^n\}' &= \frac{d(x^n)}{dx} \cdot \frac{du(t)}{dt} \\ &= nx^{n-1} \cdot 2 = 2n(1+2t)^{n-1} \end{aligned}$$

$$\sum_{k=0}^n {}_nC_k a^{n-k} t^k = (a+t)^n.$$

二項定理.

$$\sum_{k=0}^n k {}_nC_k a^{n-k} t^k = ?$$

$$(a+t)^n = \sum_{k=0}^n {}_nC_k a^{n-k} t^k$$

両辺を t について微分

$$\begin{aligned} \{(a+t)^n\}' &= \frac{d(x^n)}{dx} \cdot \frac{d(a+t)}{dt} \\ x &= a+t \\ &= nx^{n-1} \cdot 1 \\ &= n(a+t)^{n-1} \end{aligned}$$

$$\begin{aligned} n(a+t)^{n-1} &= \left(\sum_{k=0}^n {}_nC_k a^{n-k} t^k \right)' \\ &= \sum_{k=0}^n ({}_nC_k a^{n-k} t^k)' = \sum_{k=0}^n k {}_nC_k a^{n-k} t^{k-1} \end{aligned}$$

7. 7. $n(a+t)^{n-1} = \sum_{k=0}^n k {}^nC_k a^{n-k} t^{k-1}$

↑
N.B.

これに t を掛ける

$$n(a+t)^{n-1} t = \sum_{k=0}^n k {}^nC_k a^{n-k} t^k$$



2種類のボールが混在している。

赤玉 N_1

$$p = \frac{N_1}{N_1 + N_2}$$

白玉 N_2

$$q = \frac{N_2}{N_1 + N_2}$$

抽出したボールが赤玉の個数を X

$$P(X=k) = {}^lC_k q^{l-k} p^k$$

$X=k$ である確率。

期待値 ~~P~~ $E(X) = \sum_{k=0}^l k P(X=k)$

$$= \sum_{k=0}^l k {}^lC_k q^{l-k} p^k$$

7.7.1025.

$$\rightarrow = n(p+q)^{n-1} \cdot p$$

$$= np$$

$a=q, t=p$ である

ਦਿ. ੧-੧੧-੨੦੨੦

$$k {}^l C_k = {}^{l-1} C_{k-1}$$

ਦਿ. ੧੨

$$\sum_{k=0}^l {}^l C_k {}^{l-k} C_p$$

ਦਿ. ੧੩

ਦਿ. ੧੪ page ੧੨